energy cheaper
than coal




Our world is beset by global warming, pollution, resource
conflicts and energy poverty. Millions die from coal ploni

emusions. We war over mideost oll. Food wpplies from sea
and lond are threatened. Developing nations’ growth
exccerbates the crses.

Few nahons will adopl carbon taxes or ensrgy policies

against their economic sellinterests to reduce glebal CO,
emissions, Energy cheoper thon cool will dissuode Jll
nations from burmmng coal. Innovative thonum energy uses
economic persuation fo end the pollution, to provide
energy and prosperity to impoverished peoples, and to
create energy secunty for all people tor all ime
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